6.3. Taylon Series and Maclaurin Series Tuesday, November 13, 2018 8:08 AM

Recall:
$$\frac{1}{1+x} = \sum_{n=0}^{\infty} (-1)^n x^n ; |x| < 1$$

Integrate
$$\rightarrow \ln(1+x) = \sum_{n=1}^{\infty} (-1)^{n-1} \cdot \frac{x^n}{n}$$
; $|x| < 1$

$$\frac{1}{1+x^2} = \sum_{n=0}^{\infty} (-1)^n x^{2n} ; |x| < 1$$

Integrate
$$\rightarrow$$
 arctan(x) = $\sum_{n=0}^{\infty} (-1)^n \frac{\chi^{2n+1}}{2n+1}$, |x| <1

Point: Start with a geometric series - s integrate differentiate

- series for many functions

What is the series for ex?

- Taylor and Maclaurin Series.

Taylor Theorem:

If a function of has a power series expansion centered

$$f(x) = \sum_{n=0}^{\infty} c_n(x-a); \quad |x-a| < R$$

$$|x-a| < R$$

$$(a-R) = a + R$$

Then the coefficients on of the series are given by

$$C_n = \frac{f^{(n)}(a)}{n!}$$

f(n)(a): n the derivative of f evaluated at x = a.

In other words, the Taylor series for f(x) is given by

$$f(x) = \sum_{n=0}^{\infty} \frac{f^{(n)}(a)}{n!} (x-a)^n$$

$$= f(a) + \frac{f'(a)}{1!} (x-a) + \frac{f''(a)}{2!} (x-a)^2 + \cdots$$

$$\frac{f'''(a)}{3!} (x-a)^3 + \cdots$$

In the special case that the center a = 0, the Taylor series for f(x) is called the Maclaurin series for f(x).

So, the Maclaurin series for f(x) is:

$$f(x) = \sum_{n=0}^{\infty} \frac{f^{(n)}(0)}{n!} x^n$$

Tuesday, November 13, 2018 8:23 AM
$$f(x) = f(0) + \frac{f'(0)}{1!}x + \frac{f''(0)}{2!}x^2 + \frac{f'''(0)}{3!}x^3 + \cdots$$

Mote: Maclaurin = Taylor with center = 0

L.g. (a) Find the Maclaurin series for the given

(Hint: nth welf. $c_n = \frac{f^{(n)}(0)}{n!}$; take the first

few derivatives of function and find the pattern for \$(0))

(b) Find I.O.C and R.O.C of the series.

$$(1) f(x) = e^{x}$$

(2)
$$f(x) = \sin x$$

3)
$$f(x) = conx$$

$$\widehat{(1)}$$
 $f(x) = e^{x}$

$$e^{x} = \sum_{n=0}^{\infty} c_{n} x^{n}$$

Formula for
$$c_n$$
 is $c_n = \frac{f'''(0)}{n!}$

*
$$C_1 = \frac{A'(0)}{4!} = A'(0)$$

$$S_0$$
, $c_1 = 1$

*
$$\zeta = \frac{f''(0)}{2!}$$

So,
$$c_2 = \frac{4}{2!}$$

$$* (3 = \frac{1}{3!})$$

$$\zeta_0, \ \zeta_3 = \frac{4}{3!}$$

So, in general,
$$C_n = \frac{1}{n!}$$

So,
$$e^{\times} = \sum_{n=0}^{\infty} \frac{1}{n!} x^n$$

$$e^{x} = \sum_{n=0}^{\infty} \frac{x^{n}}{n!}$$

Ratio Test:
$$\frac{a_{n+1}}{a_n} = \frac{\frac{x^{n+1}}{x} \cdot \frac{n!}{x^n}}{(n+1)!}$$

$$= \frac{|x|}{n+1}$$

$$\left|\frac{a_{n+1}}{a_n}\right| = \lim_{n \to \infty} \frac{|x|}{n+1} = 0 < 1$$

Important Result:

$$e^{X} = \sum_{n=0}^{\infty} \frac{x^{n}}{n!}$$

function = serier for all value of x.

Application:
$$\frac{1.5}{e} = \sum_{n=0}^{\infty} \frac{(1.5)^n}{n!}$$

n	Tuesday, November 13, 20	9:20 AM (n) (a)	$c_n = \frac{\xi^{(n)}(0)}{n!}$
0	sin X	nin (0) = 0	c _o = 0
1	(ON X	wn(0) = 1	$c_1 = 1$
2	- sin X	-sin (0) = 0	C ₂ = 0
3	- Conx	$-\cos(o)=-1$	$c_3 = \frac{-1}{3!}$
4	Sun X	sin (0) = 0	C ₄ =0
			$C_5 = \frac{4}{5!}$
			C6 = 0
			$c_{7} = \frac{-1}{7!}$
$C_{2n} = 0$; $C_{2n+1} = \frac{(-1)^n}{(2n+1)!}$			

Tuesday, November 13, 2018 9:25 AM

$$\sin x = \sum_{n=0}^{\infty} \frac{(-1)^n}{(2n+1)!} x^{2n+1}$$

Ratio Test:
$$\left| \frac{a_{n+1}}{a_n} \right| = \left| \frac{(-1)^{n+1} 2^{n+3}}{(2^n+3)!} \cdot \frac{(2^{n+4})!}{(-1)^n x^{2n+1}} \right|$$

$$= \frac{|x|^2}{(2n+2)(2n+3)}$$

$$\left|\frac{Q_{n+1}}{a_n}\right| = 0 < 1.$$

$$\sin x = \frac{\infty}{\sum_{n=0}^{\infty} (-1)^n} \frac{2^{n+1}}{x} \quad \text{on } (-\infty, \infty)$$